
THIRD ANGLE PROJECTION

A

 
7.2in

181.83mm 

 248.10mm 
9.8in

  178.05mm
7.0in

  222.70mm
8.8in

152.65mm 
6.0in

 

.4in
10.75mm (4)

DETAIL B
REFER TO (X AXIS) AZIMUTH TILT TABLE FOR LETTER INDICATOR TILTS

X
AXIS

DETAIL A
NUMBERS INDICATE MECHANICAL TILT (Y AXIS) OF ANTENNA IN DEGREES.

Y
AXIS

B

50.80mm  
2.0in

 200.00mm 
7.9in

1.0in
25.40mm (4)

SLOTS

 60.80mm
2.4in

 

.1in
3.00mm (4)

AZIMUTH TILT TABLE

INDICATOR TILT (DEG)

A 0°

B 5°

C 10°

D 15°

E 20°

F 25°

G 30°

H 35°

TORQUE VALUES

3/8" 15Ft-Lbs (20Nm)

1/4" 11Ft-Lbs (15Nm)

3/8"-16x.1" SST BOLT

3/8" WALL SCREWS

3/8"-16x.1" SST BOLT

BRACKET, WALL MOUNT
(P/N: 11100011)

(P/N: 11100013)

BRACKET, MOUNT AZIMUTH

BRACKET, ANTENNA MOUNT

POLE STRAP CUT OUTS (4)

WALL MOUNT HOLES

1/4"-20x.1/2" SST BOLT

(P/N: 11100012)

(P/N: 11100013)
BRACKET, ANTENNA MOUNT

1/4"-20x.1/2" SST BOLT

AMPHENOL ANTENNA SOLUTIONS
1300 Capital Drive

Rockford, Illinois, 61109
WWW.AMPHENOL-ANTENNAS.COM

(815)399-0001

CAD

                    PROHIBITED.

D

C

B

A
A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

DRAWN

1
1
1
0
0
0
1
0

R
E
V

D

11100010

SHEET 1 OF 2

09/08/2014

UNLESS OTHERWISE SPECIFIED:

SCALE: NTS

REVDWG.  NO.

D
SIZE

TITLE:

NAME DATE

Q.A. APPR.

MFG APPR.

ENG APPR.

SEE NOTE

SEE NOTE
FINISH

MATERIAL

A

PER: ASME Y14.41-2012

INTERPRET GEOMETRIC TOLERANCING 

KIT, STADIUM MOUNT BRACKET
 .2

 1

ONE PLACE     

PROPRIETARY AND CONFIDENTIAL

 .5

TWO PLACE     

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:

ANGULAR:       1    

0 PLACE          

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF

AMPHENOL ANTENNA SOLUTIONS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION OF

AMPHENOL ANTENNA SOLUTIONS IS 

DO NOT SCALE DRAWING

6.0in
152.40mm  

.5in
12.70mm (2)



THIRD ANGLE PROJECTION AMPHENOL ANTENNA SOLUTIONS
1300 Capital Drive

Rockford, Illinois, 61109
WWW.AMPHENOL-ANTENNAS.COM

(815)399-0001

CAD

D

C

B

A
A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

R
E
V

1
1
1
0
0
0
1
0

D

11100010

SHEET 2 OF 2

KIT, STADIUM MOUNT BRACKET

09/08/2014

UNLESS OTHERWISE SPECIFIED:

SCALE: NTS

REVDWG.  NO.

D
SIZE

TITLE:

NAME DATE

Q.A. APPR.

MFG APPR.

ENG APPR.

SEE NOTE

SEE NOTE
FINISH

MATERIAL

INTERPRET GEOMETRIC TOLERANCING 

PER: ASME Y14.41-2012

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:

ANGULAR:       1    

0 PLACE           1

ONE PLACE      .5

TWO PLACE      .2
PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF

AMPHENOL ANTENNA SOLUTIONS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION OF

AMPHENOL ANTENNA SOLUTIONS IS 

                    PROHIBITED.

A

DRAWN

DO NOT SCALE DRAWING

BRACKET MOUNTS TO POLE
USING POLE STRAPS (4)

POLE MOUNT WALL MOUNT

ANTENNA MOUNTS TO BRACKET
USING SLIDERS LOCATED ON BACK
OF ANTENNA.

BRACKET ATTACHES TO WALL
WITH 3/8" FASTENERS (2)


